
KAWASAKI ZX-14R (’12-) 
FRAME SLIDERS
part# K-ZX14RFS

satoracing.com

R

L

SPLIT WASHER M10
[SWS-10] 

COLLAR 15-10
[CLR-15V-10]WASHER M10

[WS-10] 

SOCKET HEAD M10-140mm
[SBT-M10140] 

COLLAR 60-10
[CLR-60-10]

COLLAR 60-10
[CLR-60-10]

SLIDER PUCK L-10-85
[SDR-L10-85]

COLLAR 25-10
[CLR-25V-10] SLIDER PUCK L-10-85

[SDR-L10-85]

SOCKET HEAD M10-150mm
[SBT-M10150] WASHER M10

[WS-10] 

SPLIT WASHER M10
[SWS-10] 


